
●●

●

●●

●●●●

●●

●●

●

●

●

●

●

●●

●●●

●●

●

●

●●

●

●

●●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●●●

●

●

●

●●

●●

●

●

●

●

●

●●●●

●

●

●

●●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●●

●

●

●

●●

●

●

●

0 20 40 60 80 100

98
6

98
7

98
8

98
9

99
0

q=0 smp=0 load=0 p=0

Index

In
pu

t d
at

a



985 986 987 988 989 990 991

0.
0

0.
1

0.
2

0.
3

q=0 smp=0 load=0 p=0

N = 100   Bandwidth = 0.5

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=0 smp=0 load=0 p=0



●

●

●

●

●

●

●

●●

●

●●●

●

●

●●

●

●

●

●

●●

●●

●●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●●

●●

●

●

●

●●

●

●

●

●

●

●

●

●●

●

●

●

●

●●

●

●

●

●●

●

●

●

●

●

●●●

●

0 20 40 60 80 100

39
14

39
15

39
16

39
17

39
18

39
19

39
20

39
21

q=0 smp=0 load=0 p=1

Index

In
pu

t d
at

a



3912 3914 3916 3918 3920 3922

0.
00

0.
05

0.
10

0.
15

0.
20

q=0 smp=0 load=0 p=1

N = 100   Bandwidth = 0.6019

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=0 smp=0 load=0 p=1



●

●

●●

●

●

●

●

●

●

●

●

●●

●

●

●

●●●

●

●

●

●

●

●

●

●

●

●●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●●●

●●●

●

●

●

●

●

●

●

●●

●

●

●

●●

●●

●

●●●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●●

●

●

●

●

●●●

0 20 40 60 80 100

98
4

98
6

98
8

99
0

q=0 smp=0 load=1 p=0

Index

In
pu

t d
at

a



982 984 986 988 990 992

0.
00

0.
05

0.
10

0.
15

0.
20

0.
25

0.
30

q=0 smp=0 load=1 p=0

N = 100   Bandwidth = 0.5

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=0 smp=0 load=1 p=0



●

●●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

0 20 40 60 80 100

39
10

39
12

39
14

39
16

39
18

39
20

q=0 smp=0 load=1 p=1

Index

In
pu

t d
at

a



3910 3915 3920

0.
00

0.
05

0.
10

0.
15

q=0 smp=0 load=1 p=1

N = 100   Bandwidth = 0.887

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=0 smp=0 load=1 p=1



●

●

●

●

●●

●

●●

●

●

●

●

●●

●

●

●

●

●

●

●

●●

●

●

●

●

●●

●

●

●

●

●

●●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●●●

●●●●●

●●

●

●●

●

●

●

●

●

0 20 40 60 80 100

98
3

98
4

98
5

98
6

98
7

98
8

98
9

q=0 smp=1 load=0 p=0

Index

In
pu

t d
at

a



982 984 986 988 990

0.
00

0.
05

0.
10

0.
15

0.
20

0.
25

0.
30

q=0 smp=1 load=0 p=0

N = 100   Bandwidth = 0.5

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=0 smp=1 load=0 p=0



●

●●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●●●

●

●

●

●

●

●

●

●

●●

●

●●●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●●

●●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●●

●

●

●

●

●

●

●

●

0 20 40 60 80 100

39
12

39
14

39
16

39
18

39
20

39
22

q=0 smp=1 load=0 p=1

Index

In
pu

t d
at

a



3910 3915 3920

0.
00

0.
05

0.
10

0.
15

q=0 smp=1 load=0 p=1

N = 100   Bandwidth = 0.7514

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=0 smp=1 load=0 p=1



●

●

●

●

●

●

●●

●●

●

●

●

●

●

●●●

●

●

●

●

●●

●●●

●

●●

●

●

●

●

●

●●

●●●

●

●●

●●

●●

●●

●

●

●

●

●●

●

●●

●

●

●●

●

●●

●

●

●

●

●

●

●

●

●

●

●●

●●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●●

●

0 20 40 60 80 100

98
4

98
6

98
8

99
0

q=0 smp=1 load=1 p=0

Index

In
pu

t d
at

a



982 984 986 988 990 992

0.
00

0.
05

0.
10

0.
15

0.
20

0.
25

0.
30

q=0 smp=1 load=1 p=0

N = 100   Bandwidth = 0.5

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=0 smp=1 load=1 p=0



●

●

●

●

●

●●●

●

●

●

●

●

●

●

●

●●●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●●●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●●

●●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●●●

0 20 40 60 80 100

39
12

39
14

39
16

39
18

39
20

39
22

39
24

q=0 smp=1 load=1 p=1

Index

In
pu

t d
at

a



3910 3915 3920 3925

0.
00

0.
05

0.
10

0.
15

q=0 smp=1 load=1 p=1

N = 100   Bandwidth = 0.7946

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=0 smp=1 load=1 p=1



●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●
●

●
●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●
●

●

●

0 20 40 60 80 100

96
0

98
0

10
00

10
20

10
40

q=1 smp=0 load=0 p=0

Index

In
pu

t d
at

a



940 960 980 1000 1020 1040 1060

0.
00

0
0.

00
5

0.
01

0
0.

01
5

q=1 smp=0 load=0 p=0

N = 100   Bandwidth = 6.692

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=1 smp=0 load=0 p=0



●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●
●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

0 20 40 60 80 100

39
20

39
40

39
60

39
80

q=1 smp=0 load=0 p=1

Index

In
pu

t d
at

a



3900 3920 3940 3960 3980 4000

0.
00

0
0.

00
5

0.
01

0
0.

01
5

0.
02

0
q=1 smp=0 load=0 p=1

N = 100   Bandwidth = 6.484

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=1 smp=0 load=0 p=1



●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●●

●
●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●
●

0 20 40 60 80 100

96
0

98
0

10
00

10
20

q=1 smp=0 load=1 p=0

Index

In
pu

t d
at

a



920 940 960 980 1000 1020 1040

0.
00

0
0.

00
5

0.
01

0
0.

01
5

0.
02

0
q=1 smp=0 load=1 p=0

N = 100   Bandwidth = 6.689

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=1 smp=0 load=1 p=0



●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●
●

●

●

●

●
●

●

●
●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

0 20 40 60 80 100

39
20

39
40

39
60

39
80

q=1 smp=0 load=1 p=1

Index

In
pu

t d
at

a



3900 3920 3940 3960 3980 4000 4020

0.
00

0
0.

00
5

0.
01

0
0.

01
5

0.
02

0
q=1 smp=0 load=1 p=1

N = 100   Bandwidth = 6.564

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=1 smp=0 load=1 p=1



●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●●●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●●

●

0 20 40 60 80 100

94
0

96
0

98
0

10
00

10
20

q=1 smp=1 load=0 p=0

Index

In
pu

t d
at

a



920 940 960 980 1000 1020 1040

0.
00

0
0.

00
5

0.
01

0
0.

01
5

0.
02

0
q=1 smp=1 load=0 p=0

N = 100   Bandwidth = 6.492

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=1 smp=1 load=0 p=0



●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●●

●
●

●

0 20 40 60 80 100

39
20

39
40

39
60

39
80

40
00

q=1 smp=1 load=0 p=1

Index

In
pu

t d
at

a



3900 3920 3940 3960 3980 4000 4020

0.
00

0
0.

00
5

0.
01

0
0.

01
5

0.
02

0
q=1 smp=1 load=0 p=1

N = 100   Bandwidth = 6.678

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=1 smp=1 load=0 p=1



●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

0 20 40 60 80 100

96
0

98
0

10
00

10
20

10
40

q=1 smp=1 load=1 p=0

Index

In
pu

t d
at

a



940 960 980 1000 1020 1040 1060

0.
00

0
0.

00
5

0.
01

0
0.

01
5

0.
02

0
q=1 smp=1 load=1 p=0

N = 100   Bandwidth = 6.284

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=1 smp=1 load=1 p=0



●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●
●
●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●

0 20 40 60 80 100

39
00

39
20

39
40

39
60

39
80

q=1 smp=1 load=1 p=1

Index

In
pu

t d
at

a



3880 3900 3920 3940 3960 3980 4000

0.
00

0
0.

00
5

0.
01

0
0.

01
5

0.
02

0
q=1 smp=1 load=1 p=1

N = 100   Bandwidth = 7.365

D
en

si
ty



0 5 10 15 20

−
0.

2
0.

0
0.

2
0.

4
0.

6
0.

8
1.

0

Lag

A
C

F
q=1 smp=1 load=1 p=1


